@

Ox

Oz

Uy

)

No.25 (2004.7.12)

Boussinesq

Boussinesq 3

V %
N
l?

N

)
IS
=

Oy

3Q{ZX2 +1—2v(R2—Rz—22 B (2R+z)x2 H - :BQ{zy2 +1—2v[R2—Rz—22 B (2R+z)y2j]

27| R® 3 | R(R+2) R3(R+2)? Y 2z| RS 3 | R(R+2 R3(R+2)?2
=3Q23 . _ Rz _1-2v xy(2R+2) ; =3Q22x ; =3Q22y R2 = x2 4 y2 + 22

oR® ¥ 27| RS 3 R3(R+2)2 2aR® ¥ RS

X[z 1] [z 1] _QZ 2

47G| R3 R(R+2) Y 42G| R3 R(R+2) 2 42G| RS R

(T2 =7rz)




z

322 3Q s Q7 | 3r?z R Q 3,2 cos® ¢
= = cos = ——(1-2v)—|= 3cos’gsin“g—(1-2
2mR°  277? $ o 22R?| R 1-2) R+z| 2aR? gein®g - (L-2v) 1+ cos¢

2 2
o =~(1-21) 2 (E_ : j=‘<1—2v)—Q cos® -0 | 2 IAT K coct peing
2R°\R R+z 2772 1+ cosg¢ 2R° 27z

©)
Oz
oy X X=r Oy y
Oy
- X=r = -
Oy (GX)y:O (O'y)}(’:(f)
Ot X O'y Yy
or =(0x)y0= (Gy)y:O
trz(=77) X T2 y
Trz = (TZX)y:O = (Tyz)xzo
tz(=74)
Tz (=74) X Tzy Tyz
Ty (= 74t) X Txy Tyx

Ttz = (sz)yzo = (TyZ)y:o =0 7y = (Txy)y:o = (Tyx)y:o =0

Trt T4 Tty Ttz
%) Oz
302 3N s
o, —C0S’ ¢ G v

RS 2772



®)

Q
(tz =712)
X
> Oy
y 5\R o4
v
z Ot o
OR
OR
2 1
Q cos“¢ — (129 (cos¢— j
T P02 -2 T a2 | eosie
Q cosgsing
TRy = ~(1=2) 2/R2 1+cosg
(6)
z ot
2
Ot
2
> T
0y
e
Trz
O-I’ —»l -+ O'r
Trz




)

No.13

Oy
Tyx
Ixy
Ixy
o Oy
y X
Tyx
X Oy
, Ox+toy Ox—o0Oy _ , Oxtoy ox—-0Oy ,
oy = + C0S20 + 7y, SIN20 Oy = - C0S260 — 7y, SIN20
2 2
Ox—0Oy .
Ty =———5—SIN20+ 1y, C0S20
2
T
Ox=0z Oy=0r Ty~-Ig 0--(5-9)
Oy - 04 Oy-OR Ty —TR¢
O,+0 O5,—0 . O,+0 O,—0 .
o4 = 22 r_ 22 -C0S2¢ — 7y, SiN24  OR= 22 L+ 22 T-C0S2¢ + T, SiN2¢

TRy = az—garsin2¢ — 7, COS2¢

3 Boussinesq



